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Correct Answer: AE

QUESTION 100

A server administrator is installing an OS on a new server. Company policy states no one is to log
in directly to the server. Which of the following Installation methods is BEST suited to meet the
company policy?

A. GUI

B. Core

C. Virtualized
D. Clone

Correct Answer: C

QUESTION 101
A company is building a new datacenter next to a busy parking lot. Which of the following is the
BEST strategy to ensure wayward vehicle traffic does not interfere with datacenter operations?

A. Install security cameras
B. Utilize security guards
C. Install bollards

D. Install a mantrap

Correct Answer: C

QUESTION 102

An administrator has attached an old SCSI JBOD to a server to recover archival data. However,
the array will not mount to the server. Which of the following should the administrator check
FIRST?

A. Terminators are installed on the controller card and the array.
B. Disk drivers are not installed on the server.

C. SCSI BIOS needs to be updates.

D. Terminators are installed on each hard drive.

Correct Answer: B

QUESTION 103
Which of the following technologies would allow an administrator to build a software RAID on a
Windows server?

A. Logical volume management
B. Dynamic disk

C. GPT

D. UEFI

Correct Answer: B
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QUESTION 104
Which of me following is the BEST action to perform before applying patches to one of the hosts
in a high availability cluster?

A. Disable the heartbeat network.
B. Fallback cluster services.

C. Set the cluster to active-active.
D. Failover all VMs.

Correct Answer: B

QUESTION 105
A Linux administrator created a script that will run at startup. After successfully writing the script,
the administrator received me following output when trying to execute the script:

Bash ./startup,sh:Permission denied
Which of the following commands would BEST resolve the error message?

A. Chmod +w startup.sh
B. Chmod 444 startup.sh
C. Chmod+x startup.sh
D. Chmod 466 startUp,sh

Correct Answer: C

QUESTION 106

A server technician notices a server is very low on disk space. Upon inspecting the disk
utilization, the technician discovers server logs are taxing up a large amount of space. There is no
central log server. Which of the following would help free up disk space?

A. Log rotation
B. Log shipping
C. Log alerting
D. Log analysis

Correct Answer: B
QUESTION 107

Which of the following relates to how much data loss a company agrees to tolerate in the event of
a disaster?

A. RTO
B. MTBF
C. PRO
D. MTTR

Correct Answer: A
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QUESTION 108

A datacenter technician is attempting to troubleshoot a server that keeps crashing. The server
runs normally for approximately five minutes, but then it crashes. After restoring the server to
operation, the same cycle repeats. The technician confirms none of the configurations have
changed, and the load on the server is steady from power-on until the crash. Which of the
following will MOST likely resolve the issue?

Reseating any expansion cards in the server
Replacing the failing hard drive

Reinstalling the heat sink with new thermal paste
Restoring the server from the latest full backup

cow»

Correct Answer: C

QUESTION 109

A systems administrator is performing maintenance on 12 Windows servers that are in different
racks at a large datacenter. Which of the following would allow the administrator to perform
maintenance on all 12 servers without having to physically be at each server? (Choose two.)

Remote desktop

IP KVM

A console connection

A virtual administration console
Remote drive access

A crash cart

Tmoow>

Correct Answer: AB

QUESTION 110
A technician needs to deploy an operating system that would optimize server resources. Which of
the following server installation methods would BEST meet this requirement?

A. Full

B. Bare metal
C. Core

D. GUI

Correct Answer: C

QUESTION 111
A server that recently received hardware upgrades has begun to experience random BSOD
conditions. Which of the following are likely causes of the issue? (Choose two.)

Faulty memory

Data partition error
Incorrectly seated memory
Incompatible disk speed
Uninitialized disk
Overallocated memory

Tmoowr

Correct Answer: AC
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QUESTION 112

A server administrator is using remote access to update a server. The administrator notices
numerous error messages when using YUM to update the applications on a server. Which of the
following should the administrator check FIRST?

A. Network connectivity on the server
B. LVM status on the server

C. Disk space in the /var directory

D. YUM dependencies

Correct Answer: D

QUESTION 113

A USB drive has been purchased to move files between Windows, *nix, and Macintosh servers.
Which of the following filesystems is the BEST choice to ensure the drive can read and be written
to by all of the servers?

A. ext2

B. FAT32
C. NTFS
D. UFS

Correct Answer: B

QUESTION 114
An administrator needs to perform bare-metal maintenance on a server in a remote datacenter.
Which of the following should the administrator use to access the server's console?

A. IP KVM

B. VNC

C. Acrash cart
D. RDP

E. SSH

Correct Answer: D

QUESTION 115
A server administrator added a new drive to a server. However, the drive is not showing up as
available. Which of the following does the administrator need to do to make the drive available?

A. Partition the drive.

B. Create a new disk quota.

C. Configure the drive as dynamic.
D. Setthe compression.

Correct Answer: C

QUESTION 116
A server is performing slowly, and users are reporting issues connecting to the application on that
server. Upon investigation, the server administrator notices several unauthorized services running
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on that server that are successfully communicating to an external site. Which of the following are
MOST likely causing the issue? (Choose two.)

Adware is installed on the users' devices

The firewall rule for the server is misconfigured
The server is infected with a virus

Intrusion detection is enabled on the network
Unnecessary services are disabled on the server
SELinux is enabled on the server

Tmoow>»

Correct Answer: AC

QUESTION 117
Which of the following techniques can be configured on a server for network redundancy?

A. Clustering
B. Vitalizing
C. Cloning

D. Teaming

Correct Answer: D

QUESTION 118

A company is reviewing options for its current disaster recovery plan and potential changes to it.
The security team will not allow customer data to egress to non-company equipment, and the
company has requested recovery in the shortest possible time. Which of the following will BEST
meet these goals?

A. A warm site

B. A hot site
C. Cloud recovery
D. A cold site

Correct Answer: B

QUESTION 119
A technician is laying out a filesystem on a new Linux server. Which of the following tools would

work BEST to allow the technician to increase a partition's size in the future without reformatting
it?

A. LVM

B. DiskPart
C. fdisk

D. Format

Correct Answer: A

QUESTION 120
Which of the following backup types only records changes to the data blocks on a virtual
machine?

A. Differential
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